1998 u value Question
[image: image1.png](b)  Calculate the "U-value" of a cavity wall which has a 100 mm facing brick outer
skin, a 50 mm cavity and a 100 mm lightweight concrete black inner leaf. The
wall is finished internally with a 12.7 mm plasterboard on 26 mm thick battens with
an Infilling of 256 mm expanded polystyrene.

Use the following data:

Facing brick Resistivity 0.714 meCW
Lightweight concrate block Resistivity 4.545 m°C/W
External surface resistance Resistance 0.053 m*C/W
Internal surface resistance Resistance 0.123 m*C/W
Cavity resistance Resistance 0.176 m*CW
Plasterboard Conductivity 0.016 W/m°C
Expanded polystyrene Conductivity 0.033 W/m°C

Ignore the timber battens.
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	Element/Material
	Conductivity 
(K)
	Resistivity (1/K)
	Thickness
 (m)
	Resistance 
( R )
	

	Ext. Surface R
	
	
	
	0.053
	

	Int. Surface R
	
	
	
	0.123
	

	Cavity R
	
	
	
	0.176
	

	Facing Brick
	
	0.714
	0.1
	0.0714
	

	LW Conc Block
	
	4.545
	0.1
	0.4545
	

	Plasterboard
	0.016
	62.5
	0.0127
	0.79375
	

	Polysytrene
	0.033
	30.3030303
	0.025
	0.757575758
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	Total R
	2.429225758
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	U Value
	1/Total R   =
	0.411653794
	W/m² ºC


